SCHAFFERT MFG. CO., INC. 308-364-2607 or 800-382-2607

STAINLESS STEEL TUBE MOUNTING INSTRUCTIONS
Case |H 1200 Planters

Before working on your planter or drill

DANGER: \When storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation.

Case IH 1200 Stainless Steel Tube

NOTE: The Y-Not kit is NOT recommended with the stainless steel tube option el G TS (o Sl B

because the tube interferes with the Y-Not.

Once you have your Rebounders installed, you are now ready to mount the stainless g:mless Steel Tube Qua1nt|ty
tube on the planter. Tube Clamp ... .oveveennnn
! RIGHT OR LEFT IS DETERMINED BY FACING THE PLANTER FROM BlackHose....................... 1
THE REAR. Instruction Sheet.................. 1

#1 a Thread the 1/4" hose inside the stainless tube.

#2: Remove rear scraper bolt from leading disc on each row so the slotted tab on
the stainless tube can be placed over the scraper bolt.

#3: On the right lead disc side (tube that has red paint on it), you may need to
use the hole that is placed behind or further back from the back scraper bolt.
This will allow proper angle for the tube.

#4: Place the stainless slotted tab over the scraper bolt, then position the tube
over the top of the Rebounder. Leave about 3/8" of clearance between the
tube and the Rebounder. This will allow the Rebounder to flex up in the seed
V if necessary. Re-install the nut on the bolt and hand tighten it.

#5: Place the tube clamp and slide it up on the lower end of the stainless tube.
Depending on which side, right or left, remove the pivot bolt and nut on the
cover disc bracket, allowing the tube clamp to be placed on the bolt or under
the nut. This will keep the tube in place when planting in heavy residue.

REMEMBER: Do not allow the discs to rub on the stainless tubes.

! WHEN ORDERING, SPECIFY HALF LEFT & HALF RIGHT TUBES

Rebounder covered by one or more of the following U.S. patents: 5,640,915; 5,918,557; 6,082,275; 6,283,050; 6,453,832; 6,763,773 and 7,121,216.
71495 rd. 397 - indianola, ne 69034 - 308-364-2607 or 800-382-2607 - fax: 308-364-2410 - sales@schaffert.com - www.schaffert.com - 4 june 2018



SCHAFFERT MFG. CO., INC. 308-364-2607 or 800-382-2607

STAINLESS STEEL TUBE MOUNTING INSTRUCTIONS
Case IH 800 900 950 955 Planters & 5400 Soybean Special Drills

Before working on your planter or drill
DANGER: \When storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation.

Case IH 800-955 Stainless Steel Tube

NOTE: The Y-Not kit is NOT recommended with the stainless steel tube option e ey R

because the tube interferes with the Y-Not.

Once you have your Rebounders installed, you are now ready to mount the stainless g:mless Steel Tube Qua1nt|ty
tube on the planter. Tube Clamp ... .oveveennnn
! RIGHT OR LEFT IS DETERMINED BY FACING THE PLANTER FROM BlackHose....................... 1
THE REAR. Instruction Sheet.................. 1

#1 a For 2004 and earlier Rebounders, install Rebounder as directed in the
mounting instructions.

#2: Remove rear scraper bolt from leading disc on each row so the slotted tab on
the stainless tube can be placed over the scraper bolt.

For 800, 900, and 950 series this will be the left side.

For 955 series there are right lead discs and left lead discs. The right
lead disc tube has red paint on tab. On the right lead disc side, you may
need to use the hole that is placed behind or further back from the back
scraper bolt. This will allow proper angle for the tube.

#3: Place the stainless tube’s slotted tab over the scraper bolt, then position the
tube so it comes out over the top of the Rebounder. Tighten the scraper bolt >
into place.

IMPORTANT: Leave about 3/8" to 1/2" of clearance between the tube
and the top of the Rebounder. This will allow the Rebounder to flex up in the
seed V if necessary, and keep dirt from building up and interfering with the
Rebounder. Necessary clearance can be made by loosening the scraper bolt
and raising or lowering the tube in the adjusting slot.

Re-tighten the bolt and check it to make sure you have the necessary
clearance.

#4: Insert the tube clamp over the 5/16" bolt. This will help hold the stainless
steel tube in place when planting in heavy residue.

REMEMBER: Do not allow the discs to rub on the stainless tubes.

! WHEN ORDERING FOR CASE IH 955 PLANTERS, SPECIFY HALF
LEFT & HALF RIGHT TUBES

Rebounder covered by one or more of the following U.S. patents: 5,640,915; 5,918,557; 6,082,275; 6,283,050; 6,453,832; 6,763,773 and 7,121,216.
71495 rd. 397 - indianola, ne 69034 - 308-364-2607 or 800-382-2607 - fax: 308-364-2410 - sales@schaffert.com - www.schaffert.com - 4 june 2018



